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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]

4500

4000

3500 -

3000 -

2500

2000 -

ing: col ['FVOEC’'] is missing

—&— ECO

10

20

30

40

50




Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]




Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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=it 4092.0 (12:%) 1800. 0 32 KEC: 2080.0, PH: 6.5

large discrepency for begining water status (453:276.0), set to 453 ml
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#HERECE (2135.0 vs 3130.0) RS
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24t 2934.0 (6%) 900.0 32 KEC: 2080.0, PH: 6.5

EORGEBBT AR IRAR 23 (489 vs 333.0))

BRIA S FRGERE220. 0 ml.
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